3.4 Arithmetic Sequences Guided Notes Day 1 Name

QI Identify and Describe Arithmetic Sequences, identify terms in an arithmetic sequence, and find common
erence. Write arithmetic sequences in recursive and explicit formulas.

A.There are 5 shaded squares in row 3. The total 1f\:;a.shlon designer is designing a patterned
number of shaded squares up to and including | abric. :

row 3 is . Fill in the table for the remaining  + °

rowvys.
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EXAMPLE 1: Is the ordered Ilst 26, 39 5'! 65, 7% an arith equence? o ﬁa'H'a'” num
YLS is i Gh anthmedo m | that increades or dccreags
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Identify the first term: a;='Q,b " - e
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How are sequences related to functions?

+he Common diflerehee 1S lhuthe Slope- #sa congﬁn{-rafe B

Represent the saguwheerin subscript notation: The Recursive Formula of an Arithmetic Sequence

¢. & — _ ‘3?1
. =10 '* lan]“ la“"‘! + OL P
Qi = a:o—l td fhb“ﬂﬂ" b PCY‘OM Common ALY S
Qip = Gg td torm of +‘{F A‘L[orw% ‘
the gqum enee veo,

EXAMPLE 2 cmpert -
A. Whatis a recursive formu!a fcr the height aboxc the

ground of the n™* sta cha
lg’o‘lé} ah—-an -l +aél W'H""J”

B. Use the recursive formula a. = 2.1 + 26, where a; =
26, to find the height above the ground of the 3rd step.
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You try:
Given the arithmetic sequence
-4,-12,-20,-28, ...

s 4

Write tﬁwe recursive formula: Write the recursive formula:

Y, | d=
I Ay = Op., —8 4:54” ,+5J

You try: Given the arithmetic sequence
-6, —1.4,9 .14, ...

EXAMPLE 3 :
The cost of renting a bicycle is given in the table. /""
i plicit formula®_ ' ¢ Thc cosF ‘ﬁf' r‘cn‘hng &

How can you represent the rental cost using an ex

Number of days rented (x) | 1 2850 3 4
umber of days rented (x 5;-'% brycle. for 10 darg

Rental Cost (y) fF26, | 38 50

m@g‘ cplicit Formula ™ zCommoM iS ._@ 1%4-
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 (Ferm fumber - one) _’Z’i’!‘!ﬁé_* A" iy =Ab 10§ -,

n’fh term. 15tderm Qo= A6+ (16012,
What is the cost of rentingjhe_bjmdgfrr 10 days? 10
Qip= A (912

[On =3t (n-1)1L

HOW-IS the explicit formula of an arithmetic sequ to a linear function? '
Op=- Ab + fah -l:b ;‘a,, = [ + 14 ’-

EXAMPLEA ¥in)=12n +4

The recursive formula for the height above the ground of the n™ step of the stairs
shownisa.=a,1+4 wnt!ﬂ’;{ 7"What exp}n’:t formula finds the height aboye the ~

f_roundofthcnthstep? 5 P e e g Y
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EXAMPLE 5 Using the explicit formula® . (3 ) You try:
Given a, 10 3(n—-1) G:L = IO 3(2;4) ay: 16-3% Given a, =11-4(n-1)

anq4tdin-D Qa7 =lio-3)) a0

Find theflrstStermsofthe sequence: [ 7 a ,10_3[54)
4,='° dg=-0d - 5 - 4= b Q= -
Qa > 7 a% z lD 3(34) QS’w & e q,_': 1 ‘1_

2 . . Qg 7 -G
aq>| . 0'3 2 16-6 As :9 I

Find the first 5 terms of the sequence:
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